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QUESTION 1

The following error displays during the final step of the configuration for a VMware High Availability (HA) cluster
attached to five datastores: 

The number of heartbeat datastores for host is 0, which is less than requireD. 2 

What condition would cause this error? 

A. One of the hosts in the cluster is not attached to the datastores planned for use with HA. 

B. The hosts in the cluster do not have Storage DRS configured on one or more of their datastores. 

C. One of the hosts in the cluster has an invalid Storage Policy configured on one or more of their datastores. 

D. The hosts in the cluster contain one or more datastores configured with a 1 MB block size. 

Correct Answer: A 

 

 

QUESTION 2

While troubleshooting a crash event on an ESXi 5.x host, an administrator determines the log files related to the event
are NOT present. Which action should the administrator take to resolve the logging issue? 

A. Increase the amount of memory committed to log storage. 

B. Increase the statistic data collection level to 4. 

C. Change the roll-up type to maximum. 

D. Create a persistent scratch location. 

Correct Answer: D 

 

 

QUESTION 3

Which two CPU features enable the use of 64-bit virtual machines? (Choose two.) 

A. Intel VT 

B. NX/XD Bit 

C. Hyper-threading 

D. AMD RVI 

Correct Answer: AD 
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QUESTION 4

Which two traffic types can be enabled on the VMkernel adapters of an ESXi 5.5 host using the vSphere Web Client?
(Choose two.) 

A. Fault Tolerance Traffic 

B. Virtual SAN Traffic 

C. iSCSI Traffic 

D. Virtual Machine Traffic 

Correct Answer: AB 

 

 

QUESTION 5

A vApp is performing poorly and an administrator determines that the memory resources are low. How should the
administrator resolve this issue? 

A. Configure a memory reservation for the vApp. 

B. Configure a memory reservation for each VM in the vApp. 

C. Rebuild the vApp using the wizard and assign memory reservations to the vApp. 

D. Rebuild the vApp using the wizard and assign memory reservations to each VM. 

Correct Answer: A 
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